F(LF-‘\CTIOUAL éczom*tou)

15. Solve the following equation.
C 4x-1 _ 2x+7 _ 5
Q 3 6 2

............................. Fubxin(diat) — 3xfelx(2x6F) 5 36 S

& % 7

¥ = 90 +11+4L 5
W = 15y

XI5y - i s
e 16

(185-04)




................................................. X 3. 5&95:/)7
...................................................................... o T e
................................................................................................................................................................................................................... .
5 23
1> U Lol
X2 o I 3/ ”37'
. g 115
- T = by
ST
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7.  (a) Solve the following equation. [4]




¥ ()L X

B <

?C[/-HL) t (Axtl)y)l 5 e +l)wx ‘
Klbge) +2(>x+1) = 23 +2)
L 4 B £ = Bt +17¢'
L 6 ¢ Yt 10 = O
xtibx =z O
gt Y pnd ) e

offe W10 o il
K ==el xo-1L

(185-04)

Z?X\KZ-Z%XX@UE) i (3%1—2_))57@\&'21 = ()X

3
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19. Solve X+3 . 3 _5.
@ x+1 x—3

(185-09)



20

: < Examiner
18. Solve the following equation. [71] only

8 5x+9 _
é/ G e T

T ()04 « (5149) 5 (D)) 41)x]

—
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